
`pZu_p âh¡i kpd¡ 
DÑd Ahfp¡̂ L$sp

ãg¡[¼kbg L$p¸qV„$N 50% 
kŷ u A¡gp¢N¡i“ DÐL©$ô$ 
hpV̧$fâ|qa„N âõsys L$f¡ R>¡

L$p¡Þ¾$uV$ A_¡ QZsf_u k`pV$uAp¡ 
kp\¡ DÐL©$ô$`Z¡ Qp¢V¡$ R>¡ 

_p¸_ V$p¡[¼kL$

X$p̧. qa[¼kV$ r`qX$â|a LW+ (kud¡ÞV$_u b¡N 
v$uW$ 200 rdrg) kp\¡ D`f“p cpN¡ 
12-15 rdrd“y„ fnZpÐdL$ àgpõV$f 
(1 cpN kud¡ÞV$ + 3 cpN f¡su) gNpX$hy„. 

‘Ngy„ 5

Aphy„ L¡$d ’pe R>¡

X$p.̧ qa[¼kV$ r`qX$qa_ 2K “u ‘k„v$Nu ip dpV¡$ L$fhu Å¡CA¡

X$p̧. qa[¼kV$ NpBX dpV¡ 57575 `f <DF> Lfp¡

∙ KQp c|rdNs S>mõsf_¡ L$pfZ¡ cp¢e_u _uQ¡_u S>du_dp„\u 
c¡S> D‘f QY¡$ R>¡

∙ S>du__u _uQ¡_p bp„̂ L$pd dpV¡$ S>fpe X$̧ç` â|qa„N _ \ey„ lp¡e 
A\hp X¸$ç` â|qa„N_¡ lpr_ `lp¢Qu lp¡e.

DL¡$g 
X$p.̧ qa[¼kV$
r`qX$qa_ 2K

 L¡$hu fus¡ âep¡N L$fhp¡

IV$_p õsf kŷ u AkfN°õs 
àgpõV$f“¡ v|$f L$fp¡ A_¡ kpa L$fp¡. 

‘Ngy„ 1

AkfN°õs rhõspf `f 20 Qp¡.aŸ./qL$N°p_p v$f¡, 
X$p̧. qa[¼kV$ r‘qX$¾$uV$ eyApf‘u kp\¡ c¡mh¡gp¡ 
1:>1.5 (1 cpN eyApf`u : 1.5 kud¡ÞV$)_p¡ 
1 L$pV̧$ AkfN°õs rhõspf `f Qp¡̀ X$p¡ A_¡ 
AkfN°õs rhõspf_u 2 aŸV$ D`f sfa 
qv$hpg `f g„bphp¡. 

‘Ngy„ 2

4-6 L$gpL$_p kdep„sf¡ 6 Qp¡.aŸ./qL$N°p v$f¡ 
X$p̧. qa[¼kV$ r`qX$qa_ 2K_p 2 L$pV̧¹$k Qp¡̀ X$p¡. 
1gp L$pV̧$_p 900 `f buÅ¡ L$pV̧$ Qp¡`X$hp¡.

‘Ngy„ 3

bp¡ÞX$ L$pV̧$ (1 cpN kud¡ÞV$ + 1 cpN eyApf‘u 
+ 1 cpN bfR>V$ f¡su) gNpX$p¡ A“¡ Ap“¡ 4-6 
L$gpL$ dpV¡$ k|L$php v$p¡. 

‘Ngy„ 4

QY$sp `pZu\u 
c¡S>N°õssp


